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Q SECTION - A (5x2=10)

Very short answer questions
~ Answer all questions

1. Evaluate f{x*ydydrover [1,2; 1;3].
[[#*yaydrsol1,2;1, 3] 2 redois0d.

2. Change rectangular ¢oord'inate‘s (x,,2) to cylindrical -

coordinates (p,¢,z)in Triple integral. ]

BHBAH BIFES0S” AFSHGSE EFHe0 (X,1,2) Ko STFSE

TS (p, @, z) E'$S5TG06.

3. Show that curl 7 =0.
Curl 7 =0 @ Q5750506

5-903 1] [RT.O.
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4. Find |F.drwhere F=xyi +yzj + zxk over the curve cis, | b : v
r=t -{ £ + Pk tvarying from —1 to 1 ' 8. Evaluate H xy(x+y) drdy where ‘E” is the region bounded
‘F=xyi +yzj + =k sod 1=—1 5008 1 SOOI
r=ti+ 2+ koo cedsgod [Fdr daxsio S5,

E
P by y=x*andy = x.
y =x%,y = x © 5065 300d & e300 ‘E’ D H;y(x+y)dxdy:)

3. State Green’s theorem in a plane. ; Felotiods ;
i’soog)_@&oc;ow:hm A 9. Find the angle between the surfaces x> +3? +2z*=9 and
2+)2—z=3at(2, -1, 2).
SECTION - B 5 x 5 =25) X+ Y+ 2 =9 500000 x2 + )7 — 2 =3 Sero 0G5 (2, -1, 2)

8ot 5 Serdy 850808,

Answer any Five questions

" 10. IfA = 2xz% — yzj + 3xz%k and ¢= *yz, find Vx(4A) at

6. Evaluate [(xydx+yzdy+zez) where ¢ is % = Ly==p, | 1,1,1).
c 2 ,
A = 2xz% — yzj + 3xz3k 500a» ¢= x%yz @003 (1 1, 1)

z=p tvaryingfrom —1 to +1. f
DOLED S Vx (PA) SHF0500.

celSgox=t,y=F£ z=F 1<y < leassyed
[y + yzdy + zxz) 9 s aod 11. IfA=ti—£j+ (=1)k, B = 2£% + 61k, find
| ] .8 [(ABydr

7. Change the order of integration and evaluate J; l f: '.dydx. b) J':(AxB) dt
RIS (e e '
ST 80 [ [ dy de ditens ool A =ti— £+ (t-1)k, B = 2fi + 61k, 003
S.003 | a)’ j (AB)dt b) j (AXB) df £,
2] S-903 3] [PTO.
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12. Evaluate LF-dr where c is the curve given by the arc of the © 15.2) Find IH (x* + + z%) dxdydz taken over the volume
parabola y = x* from (0, 0) to (1,1) when F = x4?; +37, |

2« & enclosed by the sphere x2 + )2 + 2> =1.
F =x3Pi + )Y S0y = X Sorseahod (0, 0) Srod 1,1y

X432+ 22 = 1 o Gorg,S05TE0 G0 S03E 00008
<55 LF.dr s K00, 1 ([ + 57 + 2% dedydlz DeoS SR
'\ OR
13. Prove by Stoke’s theorem curl grad ¢ =0. l 2,
| ‘» b) Evaluate [ [ on yz drdydz K050l
265, oo &sdiriod curl grad ¢ =0 &d ool ’
e o 16. a) If F=xi +yi +zk and ¢ =logrwhere r=|r| then
SECTION - C (5 x 8 = 40) =
2 - - .0p .09 08 _T
Answer All the questions show that 15;+ j—a—y—+k—5z——;;.
14. a) Evaluate [ [ xe™" dydx i ) - | : =
) Bveluate J, L% dysby changing the order of 7o 3Ty + 2 500080 ¢ =logr coxsID r =|7 | @
integration. ' 6 op 36 T
; » 0 r
© rx = | e o .—+k—=-——
[[[[ e dyde ssrsossn 557808 oDy 00y Moo | - 0% #, Vhor = ek
Bapods OR :
oK b) If g is a constant vector then show that
b) Evaluat 2dx — x* . . N i (A
) uate _[(y dx—x'dy) along the triangle with : curl(a;r]=—'g—+§r’—;-(ﬁ.7),
vertices (1, 0) (0, 1) (-1, 0).
- (axF)_-a 3
(la 0) (0’ 1) (_'1 ;0) %q:mﬂ" () L@gsm?- I(yzdx—xzdy) 3 a 2.& 386 HOF @ws’ curl(a.:;r )_—a_;_r%-}--r—:-(a}—) &R
. wrisoda
5903 4] §-903 15] prd]
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: e b) Verify is the boundary
17. a) If F=(x*+)?)7 - 2xy7, then evaluate (ﬁc F.dr where 2 j (3x? —8y*)dx + (4y - 6xy)dy wherecis thel
. ¢ =0.y=0,x+y=1.
the curve ‘¢’ is the rectimgle_m the xy-plane of the region defined by x=0,y O,fl y oy
boundedbyy=0:y=b’x_03x—a' 3@50{905 = :);x=0,y=0,x+y—- e A
_ ce RO .
F=(" +y")7 - 217, ¢ @8 xp-Soos' y = 0, y=b, [ (32 ~8y" )+ (4y =6y 2 5508008 (S depoordy
*=0.x=a Spod $0ugis oo wond § Fr i, el
redosod,
OR ¥ K K
b) If F=(2x? —32)i —2x)5 —4xk , then evaluate
| I I f AxFdV where ‘V’ is the closed region bounded
- 4
bytheplanesx=0,y=0,zz=0 and 2x +2y+z=4.
F=(2x? =32)i —2xy7 —4xk , VeS8 Soderen x = 0,
y=0,z=0,2x+2y+z=4e>§ea’>ﬁaxg§_oé?éo;’be§es;’>6m -
o3, 65yt [[[AxFav s tetosod
g v
18. a) State and prove Gauss Divergence theorem.
T 35566 Mg0mny (35009 D008,
OR
S-903 [6] S S-903 d
!~=L
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